tEEEATIV7IEE-BISE] gremz

20255 489 P EFREE@OSMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB X, B EICKAIES I E (B EABRHEDEEST(EHHA0TA/KWh, 8 E1BREDEEFIZEL
SARTRT)ZMHMEFRHEEMMSESIET SO TIEEL HEBICTESIZZITHOE T EEFET,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 3.08|M/kWh
HAEEDEE A 3.00|M/kWh
(1) BRE BR 2E Bl = (2R BHEi4% — 37,200 ) x BB {fi 1,000 = EBEDGE 3.08|F/kWh
2024411 A ~2025% 1 A FH DB SR sHiltE HAlBEDEZE 3.00|F/kWh
A: 1KY O FH R im g 74,680 A o: 0.4699
B: 1t&H7=Y D FHLNGHHHE 97,032 M B: 0.0000 = EE A Bl 0.189 M
C: 1tdH1=Y DFH A HEifi& 23,360 [ 7 0.7879 FERl = R A 2 B Aiff 0.184 [

TR = AXxa +BX S8 +Vxy = 53500 M (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 11.97
B: ETAREEEM (Fik) 8.00
C: BANFAEELE I (Fiik) 18.00

Uk



RIEEHTV7ZI[EE-FHAISE] gremz

20255 489 P EFREE@OSMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB X, B EICKAIES I E (B EABRHEDEEST(EHHA0TA/KWh, 8 E1BREDEEFIZEL
SARTRT)ZMHMEFRHEEMMSESIET SO TIEEL HEBICTESIZZITHOE T EEFET,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 4.43|M/kwWh
HAEEDEE Biad 4.28|F/kWh
(1) BR B B 2 Bl = (29 BHEi4% — 31,400M) x BB {fi 1,000 = EBEDGE 4.43|F/kWh
2024411 A ~2025% 1 A FH DB SR sHiltE HAlBEDEZE 4.28|/kWh
A: 1KY O FH R im g 74,680 A o: 0.1152
B: 1t&H7=Y D FHLNGHHHE 97,032 M B: 0.2714 = EE A Bl 0213 M
C: 1tdH1=Y DFH A HEifi& 23,360 [ 7 0.7386 FERl = R A 2 B Aiff 0.206 M

T = AXxa +BX B8 +VXxy = 52200 M (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 11.47
B: ETAREEEM (Fik) 7.00
C: BANFAEELE I (Fiik) 14.00

Uk



RRBAL) 7 (BE RAIBE]

20255 489 P EFREE@OSMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB X, B EICKAIES I E (B EABRHEDEEST(EHHA0TA/KWh, 8 E1BREDEEFIZEL
SARTRT)ZMHMEFRHEEMMSESIET SO TIEEL HEBICTESIZZITHOE T EEFET,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 4.35|M/kWh
HAEEDEE Biad 4.29|F/kWh
(1) PR B R B Bl = (2R BHEI4% — 44,200 ) x BB {fi 1,000 = EBEDGE 4.35|F/kWh
2024411 A ~2025% 1 A FH DB SR sHiltE HAlBEDEZE 4.29]F4/kWh
A: 1KY O FH R im g 74,680 A o: 0.1970
B: 1t&H7=Y D FHLNGHHHE 97,032 M B: 0.4435 = EE A Bl 0.224 M
C: 1tdH1=Y DFH A HEifi& 23,360 [ 7 0.2512 FERl = R A 2 B Aiff 0.221 [

TR = AXxa +BX B8 +VXy = 63600 M (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 11.83
B: ETAREEEM (Fik) 7.00
C: BANFAEELE I (Fiik) 14.00

Uk



FHENTIT(BE BABE]

20255 489 P EFREE@OSMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB X, B EICKAIES I E (B EABRHEDEEST(EHHA0TA/KWh, 8 E1BREDEEFIZEL
SARTRT)ZMHMEFRHEEMMSESIET SO TIEEL HEBICTESIZZITHOE T EEFET,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 2.81|M/kWh
HAEEDEE Biad 2.77|M/kWh
(1) BR B B 2 Bl = (29 R BHEi4% — 45,900 ) x BB {fi 1,000 = EBEDGE 2.81|M/kWh
2024411 A ~2025% 1 A FH DB SR sHiltE HAlBEDEZE 2.77|M/kWh
A: 1KY O FH R im g 74,680 A o: 0.0275
B: 1t&H7=Y D FHLNGHHHE 97,032 M B: 0.4792 = EE A Bl 0.223 M
C: 1tdH1=Y DFH A HEifi& 23,360 [ 7 0.4275 FERl = R A 2 B Aiff 0.220 /M

T = AXxa +BX S8 +Vxy = 58500 M (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 12.29
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk



tEEENAT)T7IEE-FHISE] gremz

20255 489 P EFREE@OSMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB X, B EICKAIES I E (B EABRHEDEEST(EHHA0TA/KWh, 8 E1BREDEEFIZEL
SARTRT)ZMHMEFRHEEMMSESIET SO TIEEL HEBICTESIZZITHOE T EEFET,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 3.34|M/kwWh
HAEEDEE A 3.30|M/kwh
(1) PR R 2 Bl = (2R BHE4% — 21,900 ) x BB {fi 1,000 = EBEDGE 3.34|F4/kWh
2024411 A ~2025% 1 A FH DB SR sHiltE HAlBEDEZE 3.30|F/kWh
A: 1KY O FH R im g 74,680 A o: 0.2303
B: 1t&H7=Y D FHLNGHHHE 97,032 M B: 0.0000 = EE A Bl 0.152 M
C: 1tdH1=Y DFH A HEifi& 23,360 [ 7 1.1441 FERl = R A 2 B Aiff 0.150

T = AXxa +BX B8 +VXy = 43900 M (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 12.13
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk



BlENTU7I[EE - FAEE] gremz

20255 489 P EFREE@OSMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB X, B EICKAIES I E (B EABRHEDEEST(EHHA0TA/KWh, 8 E1BREDEEFIZEL
SARTRT)ZMHMEFRHEEMMSESIET SO TIEEL HEBICTESIZZITHOE T EEFET,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 3.89|M/kWh
HAEEDEE A 3.84|M/kWh
(1) BARE ER B Bl = (29 BHEI4% —27,100M) x BB {fi 1,000 = EBEDGE 3.89|/kWh
20244118 ~2025% 1 A FHDE B stlits HAlBEDEZE 3.84|F/kWh
A: 1KY O FH R im g 74,680 A o: 0.0140
B: 1t&H7=Y D FHLNGHHHE 97,032 M B: 0.3483 = EE A Bl 0.158 M
C: 1tdH1=Y DFH A HEifi& 23,360 [ 7 0.7227 FERl = R A 2 B Aiff 0.156

TR = AXxa +BX B8 +Vxy = 51,700 H (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 12.13
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk



FEENTIT (AL RG]

20255 489 P EFREE@OSMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB X, B EICKAIES I E (B EABRHEDEEST(EHHA0TA/KWh, 8 E1BREDEEFIZEL
SARTRT)ZMHMEFRHEEMMSESIET SO TIEEL HEBICTESIZZITHOE T EEFET,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 4.96|M/kWh
HAEEDEE A 4.81|M/kwWh
(1) BR B B 2 Bl = (29 BHEi4% — 26,000 ) x BB {fi 1,000 = EBEDGE 4.96|F/kWh
2024411 A ~2025% 1 A FH DB SR sHiltE HAlBEDEZE 4.81|F/kWh
A: 1KY O FH R im g 74,680 A o: 0.1543
B: 1t&H7=Y D FHLNGHHHE 97,032 M B: 0.1322 = EE A Bl 0.234 M
C: 1tdH1=Y DFH A HEifi& 23,360 [ 7 0.9761 FERl = R A 2 B Aiff 0.227 M

TR = AXxa +BX B8 +VXy = 47200 M (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 11.95
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk



MEENTIV7IEE-Fi&E] gremz

20255 489 P EFREE@OSMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB X, B EICKAIES I E (B EABRHEDEEST(EHHA0TA/KWh, 8 E1BREDEEFIZEL
SARTRT)ZMHMEFRHEEMMSESIET SO TIEEL HEBICTESIZZITHOE T EEFET,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 3.70|M/kWh
HAEEDEE A 3.61|M/kwh
(1) BR B B 2 Bl = (29 BHEi4% — 26,000 ) x BB {fi 1,000 = EBEDGE 3.70|F/kWh
2024411 A ~2025% 1 A FH DB SR sHiltE HAlBEDEZE 3.61|FM/kWh
A: 1KY O FH R im g 74,680 A o: 0.2104
B: 1t&H7=Y D FHLNGHHHE 97,032 M B: 0.0541 = EE A Bl 0.188 M
C: 1tdH1=Y DFH A HEifi& 23,360 [ 7 1.0588 FERl = R A 2 B Aiff 0.183 [

T = AXxa +BX B8 +VXy = 45700 (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 9.63
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk



AMENTIT7I[EE-FHAISE] gremz

20255 489 P EFREE@OSMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB X, B EICKAIES I E (B EABRHEDEEST(EHHA0TA/KWh, 8 E1BREDEEFIZEL
SARTRT)ZMHMEFRHEEMMSESIET SO TIEEL HEBICTESIZZITHOE T EEFET,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 2.11|M/kWh
HAEEDEE A 2.07|M/kWh
(1) BRR B B 2 Bl = (2R BHEi4% — 27,400M) x B #EB{fi 1,000 = EBEDGE 2.11|[/kWh
2024411 A ~2025% 1 A FH DB SR sHiltE HAlBEDEZE 2.07|FM/kWh
A: 1KY O FH R im g 74,680 A o: 0.0053
B: 1t&H7=Y D FHLNGHHHE 97,032 M B: 0.1861 = EE A Bl 0.130 M
C: 1tdH1=Y DFH A HEifi& 23,360 [ 7 1.0757 FERl = R A 2 B Aiff 0.128 [

TR = AXxa +BX B8 +VXy = 43600 M (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 10.20
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk



